
����������	
����
�����������
���������������	�������	

�A

���������	���
���������
����
����
���

[�	��	�E$)6���	��	�E,�3%(#

�����\�)�3#2��%*%(+@�6)�^�$3+@�,)6+&3+@�'3�$)�*+1)1��,)3���	��	��#�<�&)$*%(#J#a


�����	����������������������	����������������������������� 

QF0D	�JIDGFS�DST	�'D�WGV	'	T�JLST	D0	0LFPLG0NU7
D'	IG%PLFPD�G�	1	'	� 	,�.�6����	 �	 �������"���#	 ��,�����7
��6#	�1�	��
,����	
��"�
+���	����	�����������	&
��.���	C"�
�.����	����������
��"�	������������	*���
	
����������	���7
���������	����
�
	��	
�,�*���#	�������(	Z��"�	�.����	,����7
$����	����
�
	/kk>g5)	8�����"����
	Z��"
	/kcn^5	
"�	���7
$����	 
����	 �	 ���.�����.�()	 �������$��	&
��.��)	 ,�*R���)
*���)	������
������7�������	����$��)	�-����������	*��"��7
��)	 ���
�����	 �	 ���6���.�(�	Q��������	 
����	 ��	Z��
�����	 ���7
��*�������	����.��	
��"�
+
��"�	��	��-"�.�*�	�
"����	J.7
���
	������	+����	,�.�6����	�	�������"���#	��,�������6#	��	&���$7
��*	 �	 ,����$��*	 ��*,������*�	 ,����
�"�	 ��	 
�,�*���#
�,��
��"�����	>d7���	�������"���)	X�	 
	 ������	 ��	 ������7
�"��
	 ��,�������#	&������*�)	 ���	*�+
��	 �,�����	�������

�����������	 ���"�
��)	 6	 �����"����	 ������#�����)	 ��
,���
�������"���(	��,�������(	��	,����#	*���#	�����	,�.�6����	��7
��"���)	X�	����������	���"�
�	
	������	��	�������"��
	��,��7
�����#	�
,����
+
#����	,��
Z����*	������	(�	+����)	���-"�7
��	����	,����$����	��*,�������
QJQFJHDSP	 �JIDSFS�D[T	�'D�WSV	 '	 OJNUD[T

0LFPLS0NUDJV	IS%PLFPD�SPV	1	�	� 	,�.������	 �	 ����7
���"����	��,���������	�1�	���,����	���"�
�����	���������
���������]�	&
��.���	C"�	 �.����	 ��,�"�����"�	 �������7
���]�	*���
	
����������	 ������������	 ����
��	 �	,�*�X�#
��������	Z��"]	�.����	,����$������	����
��	/kk>g5)	8��7
���"���
#	Z��"
	 /kcn^5	
"�	��
$����	���*����	�	���.��7
���.��)	 ��,�"����"��]�	&
��.��)	 ,�*���)	 ��$�)	 ������
�7
�����7�����"��]�	 ���]���)	 �-����������	*]Z"����)	 �$���
�	�������.���	'����$������	���*����	�	 ��������	 �����*�7
����]�	 ����.��	 ���"�
���"�	 �	 ,�*�X�#	 ��-"�.	�
"����
J.���
	��$�����	+����	,�.������	�	�������"����	��,�����7
����	,�	&���$����*	�	,����$����*	��*,������*	,����
�"�
�	,�*�X�#	�,�������	>d7���	'������"���)	$��	
	-�"��]�	0I
&������*�)	 �����]�	*��
�	 �,���-��������	�������#	�����7
����]�	�����������)	��"�����	
"���"������	��-�"������)	���7
,���	 �������"����	 ��,��������	�	 �	 �,��
�"�����	 ���,���
,�"	 ,�.������	 �]��"���)	 $��	 ���������]�	 ������������	 

-�"��]�	�������"����	 ��,���������	��,����+
�#���	���
7
Z����*	��$�����	��	+����)	���-����	���	,����$������	��*7
,�������
>e^eg	 cd	 nc9_bebog	 dl_nebc_	 b_	 h^ebg_e>	 �bef

fahgieg_>bc_	1	 b{	 � 	 pAtu={tr	vut@	 @xp=Bt={ru:{	 :s	 t@=	 �7�
w=;B==	t@=	rtAt=	:s	?:;{utuz=	sq{?tu:{r	vAr	=�p<:B=w�	d:B	=rtuyAtu:{
A	r?B=={u{;	y=t@:w	s:B	wuA;{:rur	:s	?:;{utuz=	rtAtqr	vAr	=yp<:x=w
qru{;	t@=	r@:Bt	r?A<=	Arr=rry={t	:s	y={tA<	rtAtqr	/kk>g5)	t@=
k:{tB=A<	r?A<=	/kcn^5	s:B	t@=	rtqwx	:s	Att={tu:{	A{w	?:{?={tBAtu:{)
=�=?qtuz=	sq{?tu:{r)	y=y:Bx)	<A{;qA;=)	zurqA<7?:{rtBq?tuz=	r|u<<r)
A}rtBA?t	t@u{|u{;)	?A<?q<Atu:{	A{w	:Bu={tAtu:{�	>tA}u<utx	:s	Att={tu:{
A{w	rp==w	:s	r={r:Buy:t:B	B=A?tu:{r	vAr	rtqwu=w	}x	>?@q<t=	tA}<=�
^rr=rry={t	:s	�qA<utx	:s	<us=	:s	pAtu={tr	vut@	@xp=Bt={ru:{	}x	p@xru?A<
A{w	y={tA<	?:yp:{={t	vAr	?ABBu=w	:qt	qru{;	A	�q=rtu:{{AuB=	>d7
���	bt	vAr	=rtA}<ur@=w	t@At	u{	pAtu={tr	vut@	@xp=Bt={ru:{	sA?t:Br	t@At
yAx	?:{tBu}qt=	t:	t@=	w=z=<:py={t	:s	?:;{utuz=	uypAuBy={t	ur	t@=
wqBAtu:{	:s	t@=	wur=Ar=)	t@=	w=;B==	:s	@xp=Bt={ru:{	A{w	t:	r:y=
=�t={t	t@=	;={w=B	:s	t@=	pAtu={t�	�=	s:q{w	t@At	?:;{utuz=	w=su?utr	u{
pAtu={tr	vut@	@xp=Bt={ru:{	AB=	A??:ypA{u=w	}x	zu:<Atu:{	:s	t@=uB
�qA<utx	:s	<us=)	=rp=?uA<<x	t@=	y={tA<	?:yp:{={t�

��������	���
����	
�
�������
�
�	
��
�������
	���
�;���6
��
��
�	��7�		��

������
��	���
����	
������������
�	
�����������	���
��
�;���6�������
�	���7�����

�����������+,-*".*/'$%/�� %1/$.$&*�:(/ .$%/��H(!)$.,�%:�)$:*�

������N����
���
��$
�����
�
!�;NB<�
� �����
�

!�
���!������
��������������5���(����#������
�#�
����
	
���
�#���������#�
���
�������"����

�������� ���
�
%�"
�2,,���	
���"����

�����5������
���
�����,���
����

�
�������
��NB�;��,.���2�
��,22����%�
�����

!<�������
�����
�� �������$�� 
�����

!%� B
�����

�
�� �������
���
��5��������
�	������� �� �
�������
���
���������
�#��
���
�����������������������
$ ���������������
$��
�����

!� ��2,2���	
���
����
�
���4�3�
��,�.�6���
���������	�����
���?�..�2����..�4�6�7�8%�NB�5�������

�#���
��
�

!��!(���� �����
�
����������!��

=����
�
�����������

�
�����	����
�������

�����

� ���������
�

���
��
�������
�������

�����������(�� ��

�����
��
	
!%�D������ �	��� �����
�
������� 5������������

��  ��(�

!� ��$�

���
��
��� ?� 
����� ;���
��

!
��������
� �� ���������=
�����	
����
������� �

 �
!<�
���	!� ;$
������=
!��
������� �
��$���� 
����� 
� ��$�
���= 
�	
!<����$����
�$������ �;��

!�����
	
!���
�
	�=������
!��

� ���<�7-8%�C��������
����
������
����
���(�
�������$��
��NB�
�����#��5�����
�(�

!�$�����

�$������ �!����$�
���
��

��� ���


�

��������	
��
���

��
���� #�����$�� ��(�

!������
������
�������� � ��
����
�
�%�9�����$��

��
������'��� ���


�

� ��(�
�

!�$����
�$������ ��������
$�#��� ����6��������
��NB�
'���������
�����������������' 5��������#�(�

!
 ��(�
�����	!�
�
�����!����$�

���
��
���NB�748%�NB�?
��
��
���=������ ������� � 
� ���$��� ��

!� � ��

��
����
	
��
�
�����(
���=����������� ���$

���
�������
= 
�	
��  ���
���
������ $� ���%�C
����$

���
����= 
��
	
!��� ��� �
#��� 
���
���� �����

�= 
�	
�� $����
�$�
���� �����������$�#�!�����
�� ��5���!����	�����	
��

���
�$�� �
�
�

!� ��
� %� C�
!��!� � ��

��� ����
	
�
���#��5� �� ����� ���
�� �
�� 
��
��
�$�� ��


�
�$�� ���
$
���

!���$

���
���= 
�	
���'��������
����!��!5���
�!������!(��������
	
�%�/�����0!��
��!����������

��#
NB���������
��������$���
� ������ 
������������������
	�=
�
�$��  ��(�

!� � ��
� $����
�$������ � ���� NB�
��� �NB�
�� ��

������
	
!����������
��� �P��������
��
��
  �Q�� !������(�� ��
��
 ��� 
���!� � ���� ����
���� �

� ��� ����������$������!

!%�9����
�
����� �
�
����'����$

���

���������;MD<�?�	�����$��� #�
�����

���!�
������������
�=��� #���!���� ��

 �����
	
#%
&�����������
�� �.?,.�6���	
5
�
��
�����
�
����MD����

��
������
	
!����������������������������� ���-2�6
�
����
�
�����������.����
��������
	
5#�� � ���,22�6
��
��
����$

���
������� ��

!��%�9�����$��

�����
'�����
��$
�����
���
��������
��������
������

�����
��
( ������������������ �
�����������
����$

���
������
� ��
��;puy~n��~�y{�npp��p\_jntl��Wypnp<�7.��38%�"���
(�

!�$����
�$������ �;B:<����$�!��5���!���
�
 #���
�
(
����
���������
��	
!��!�����
���
����(���
���
������
��� ���������$�� ����� � ���	����� ��

���  ���
���
�
�� ��������
��NB%�D������������
��
�
 5����� ��

�����!��������
�$���
���!������
����

�����
�$
�����
��� ��(�
��B:��!�
���$��������������� �����!�!������
���
�� �	

��� �=�����
���
� �
� ��

!� NB%� &�� � ��!
����������
� ����������
�(�
����	
��
������������



����������	
����
�����������
���������������	�������	

.2

� ��������� �
 �

=����	
#���������

����=��� ��
�

!������������
�$
�����������
� ��

!���$

���
������
� ��
��;MC<� ���	
5
�
����NB%���0!�����
(�NB�
��������
� ��

�������
	
���������(�
����
�

������
���$���
��
(�

!������
���
�$������ �;N&<���!���	
�
���
�������
=
��������MC�
���������#���� �

�
�%�*����� #������
'��$���
�������#���������������0!� ��������
���$

�
���
���= 
�	
�� ��������
��NB�������
��������

����
'��������#���
�������

�%

�������
�����������:�������(�����2�������

��NB��������!����� �����������
�
�����,-�(

���;���

��
��$� ��<%�R����

���
����	
5
�
��������;.��,U,�4<
��� %� R����
!� ������
���� ������#��

!� ���
�����
;,��,U,��<���� %�>����
�����
���$� ��� �
������2���
�
�
����
�
�$���
� �� !�
� 
������(������
��NB�� ��
���,2
�����
�
�� ��� ,2�(

��%� >
�$
��� NB� � ��� ����
����
�
�
����
�
����� ��


�
���������
��	
���������
���
��
$
�����
�
��}����������$�������������$
�����
�
��;np�<
���}����������$�����������������
���$
��;npu<��2,�
7�8%�"���(
���������������
��������� ��$�� �
�� �����
�� �����(�


%� >���
�(�

!� ����
 �����  � ����
�

�
�����
��	
��������
���
�
��
������
�� �
���
�

������
�
����
����
��#����=�����
������ �'��
��������

!�	��
����$���(���
��
����$
��������� ����������� ��

!%

>�!� ��05����
��	
�� ��


�
��� ��
��� �������� ����
���
����

� ����


$��
� 
�����������$
�

� ������ ��
�����%�R��
����
����
�����#������������
���
�
�#��	

�
��#� ��� �����
�� 
� ����
����
���� 
����������%� C��
����$�������
����
�������
��5�
�!�

����������
���
�
��
�	

������ �����
���'��������!5��	

�����!(�
�������
� ��

!�� �����
�� ����� ��
��
� � 
��=�

� �����
�� ��
���
�
!�����

��
(�����#������� 

������(�������%
M�$

���

�= 
�	
��;MG<����
���������������$�#�
���
���������$
�
�������
��7,8%�*��������� ���������


�
$������������
�$
���������$

���
�$������ � �������
����$�#� ��������������� �	

��� ����
�
�$�� ���� � 
;W`a`Wbaj^opj^jbnc^]`a^j`Za��WWpn<�7A8%�>�
����������
5��������(���
�#�!���������������

���
� ���	
�
��� �
���
��� ���� 
� ������ 
� ������ ��
��
���� �� "����

%
:����� !��!5� ����#� 
��
�� 
�� ,,� ������'�� �	

##��
��
5
��	
#� ����
�����
�	
���������

!���
������ 
���
�� �����
 ����0!����
�����

!��������
���!�
������ �
#�����������

!�=��������� �


!�����
��������

!�
�������������#��

!%�D�� ����������� �������� #���
�!���!����� ��	
����� �����
�������(
�� ���� 
��
�%
:��������
����	��� �����
���(
��
��������2����
��
'���
����
��5�
���
��������������$

���
�����
�
��
��!�%�E�����
������� ���������� �������
���������
(�
�����$

���
�����=
	��%������
�����
�
�������
��

��
������ ����������� ���( �����������
��
���

!1��4?
�2� ���
��I� 
���5� ��� ��
�� ��$

���
��� = 
�	
�@
�2?�.����
��I����
�

� ��$

���

� ��� ��

!@��2?��
�����I� ����
	
!� ��$��$�� �� ��
!@� ,�?,A� ���
��I

����
	
!����
�
�$���� ��
!@� ≤,�����
��I��!(������
��
	
!%� :�
����������������������!5��	

�����
�


��$

���

� �=���1�  ��$ � 
� ��
	�
���	
#�� ����
���

= 
�	
��� ���0!���� ��� �� ��
��� ����
�������
� 
�����
������������
�������

!����� ��

!�
���
5
��	
#%�E��
��!��������

!�������5�,2���%�+	

��� ��4?�2����
�
��
����������
������
�����$

���
������� ��7,28%�>�!
�	

��� ��
�����
�  ��$�� �����������
� ��
�������
��
����	
�� ���������� ������������ � �����	��g ����
7,8%�+	

� �!����
�(���!���	
5
�
����NB����=
���
���

����
�
��� �����
�
���� ���������� ��� ������$�#
���� ����
����p��,��7,�8%

*����

!���$

���
���= 
�	
�� 
�!����
�(���!�����
�����������
��

��;����
�
��NB<������
�����

��;��	
5�

�������NB<�$� ���%�R��������
 ������� ���� �����
�
����
�
�� ��
��
�
�������
������������
�������
�(�
�
 

�������� ������$���
�� ������
�pj^j_Zmj�pwxwXpwX�x%
>�!��	

����
($� �������
��


�������������� ����
����������
��� j�������
�� R��#��
��%� D
�
�	#��
(
�����
������ ���(���� ���������
�� ������
�
�#� ���
�r2�2.%

����
 ��������
��:�� ����.�����������/
���D�� ��������������
�������
�(�
������������'�
������ ����$� ������� 
�� NB� 
������
��� �������
$���1
�
���'�
 ������#��

�����$����
����
����$������� �
(


!������������

!������������

����������$ �����
� ��

!� ���0!�
�� �
�(�

!� ��
	�
���	
��  ��$��� �
��
(�

!�


	
������������

!%

"����
�
�����������$
�
�������
�(�
�� ���	
5
�
�
�
�
�������
���!���
����

����$

���
���= 
�	
������
'����
��������

������(�

!����:�
���������#�����
��#����::pn�;����%�,<%

&����  � ��� �� �
� ��� ��
�� �
�
�����
���= 
�	
�
���

 ��������������������
������0!�
����
	�
���	
�
 ��$�� ��� ��� ��

!%� L�� ���
�� �� �����	
� ,�� ��$���
�
��$

���
���
�(�

!���������#�WWpn�����
��

��$� �

������
�
���
��
�
!5���!��
����
�����
��� ������!$�5
�
�
!� ���
�
�$�� ��$

���
�$�� �
�(�

!%� ���������  
�������
��NB�(

���������
�	��������
������
����!��
�����
��� �
��,��.�6���������
����?�
��,��,�6�����
�
�
!
��
�������

��������
��������
�����
���$� ���
!�
� �
����
��#��� 
������
�� � �
�
#� ��$

���
��
= 
�	
�%�+	

�����$

���
���= 
�	
�����:�
���������#
�����#�����(���
������������$
���

!���$

���
�$�
���� � �  � ���������
��
��� $� ���� �
����
�
�� ��(

��
�����
���Wyux�� ��
��,��-�6���
�����

(� �(

����
��
�����
���$� �������������
�
��?�
��,��3�6%�C
�����
�����(�

!���	
5
�
�����������$�#������	��g ����
�������
$���� ��� ��

!� ��� ������ ���	�����
���
�
 ��$�%�R����

� �����
������������
� ����
�

!� ����
��
����������	!���g ���������
��

��$� �
� �(

���

�����
�
�� � ��� �
����
�
�� 
�� ��� 
� .,���6� �
������
���
�
!
�� �� �����
������ ��
�����
��� $� ��%� /�

�������� 	
� ;������ ������������ 4�����5� �� ������� ��� ������������ ������������ ����(��� ��'� ������  )7*"

,
�
���	��.�#�@/!�!0���������)���'��������
��������
����

���������	
��� ���
	�������	
���
������

������ ��������� ������ ���������

����������� ������ �!�"� ���#$� �!�"� �%�& � �$&� ���� � ����

�'()������� �&���� ���"� �&��%� �! "� �!�� � �%%� �%�! � �%#�

�	�����
��
*���� !%�$!���%$"� !%�%����#�"� &#�� ��� �� &��% � �%��

+(�������� &$���� �#$"� &$������� "� �#� �� ���� ! �#%� �$��

�(�������� &��!$��� �"� &!��!���& "� �#�%�� ���� !���&����%�

�



����������	
����
�����������
���������������	�������	

.,

��
��������������'�� ��������
��NB�!��(

������ ���� 

�����
���� ����
� �
��
���5���!� ������
�
�� �
�(�

!
 ��$�������������
���
�������
�������	
�%

&�������
������� ��������������
�������
�(�
�
����������'��
�!�

���������
���
���$
�����
�
������!5
������� ���$

���
������ ��
�� ���	
5
�
�����������
����� ������ ���'���
����� ��5���  � �����
�
�%�/���  
���#����$ ������
 ���
�������
����=
���
�$��
�����
�
�
�$�������
�
�
��!����
�(���!��������������;����%�,<%
&���� ��

� =
���
�$�� �����
�
���  � (

��� 
� �����
�
�
���
��������
����
�
��
���,���
��4�.�6�����
�
!
���
��
�����
�#�$� ��#������
�
�$��?��2���
����6%

N
��
�� ��� �����
��� 
�����
���  � �����	
� ��� �����
�����'�� ������
���� ������#��

!� 5� ��

������ !���
������5� 
�� ��$

���
��� ���� �� ������� 
�� NB%� /�
�
������( #��������
����WWpn�
�Wyux��!�
����������
��


����������
���������≤.����
�����4?,2����
�����
�
�������
��-�4�
�-�,�6�����������������
�s,2����
��?�
�
,4���
�,.�3�6��
����
�
�%�>�����
�

���

��	���������

��
���
��
��
��
��������
�
!


�$� �����������������
�
��#� ≤.����
�� 
�s,2����
�%�&���(������������������
����
�����
�

!������
����������	!���g ������������1

��,-���6�;s,2����
�<��,2�6�;4?,2����
�<%

&�����
����NB��
�����(������
��!����
�(���!������
��	
5
�
�������'����
�����������
����=
���
�$��
�����
�
�
�$�������
�
�
���!�
����
��������������������



�
����
�
��
��,-��� 
������6�;≤.����
�<@��.�4� 
������6
;4?,2����
�<@����,�
��-�-�6�;s,2����
�<%�/
������5����
=�����'��������
����


����������
�������#��

!�
�
NB��
��������������5����������
�
��������
�
��!����

(���!���	
5
�
�%

&����� ��
���� ������
���� �������� ��5� �
��
��
������
��=��� ��

!���$

���
������ ��
���������
�������������$���
�$����$

���
�$���
�(�

!� �����
����
��NB%�/���
��
�� �� �� �����0!��
���������'�����
NB��!�����$�
����
����#5���!����������
����

������
$��� 5� ��(�


!�������
��$����
�$������ ��'������
�������������=
	�� ��������� ������������� ��
��@�

=��� 5���!� $
�����
���
�� ���

�
�� �
	�=������
!%

C������=���$
�

� ��

�� �� � ��
��� $����
�$������ 
����NB� ���$�!�
����������
�$��
�$�����$
�
�$������
��� ��

!��������(�
��������

���� ��
������
��� �
��
���
��

!�����'�
����������
�������'�

!���

��
������	��������
��� � ��
� ���
���#��� ����

��
P$
�����

�
���
$
��
	�=������
!Q�7�8%

L�����
������
��������������
��� ������	
������ �

�
NB� 5� ��(������ ������������ ������� � ��$

���
��
��� ��
�� ��������
��NB%�9��	������ #��������
���
�����WWpn�
�Wyux��!�
��
�( ������� ���	
5
�
�����
�
����
�
�� � ������


� �����
���
�$�� ���� %� &����  
���������,��� ��
���NB������
���WWpn����
����!�
�
.���6������ ��
!�?�
��,,���6�
����� ��
!�?�
��,.�3�6
���
�
!
������
�����
�#�$� ��#%�*�(������
��
�����
'��  � ��	
5
�
�� �� �� 
� �� �� ��
!��� NB� 	��� �����
��
���
����!����
�
!
����,��� ��
����
����
�
��
��4���

,,�,�6%�)���� �����
����Wyux�� ��� �

� ���
����!
�
����
�
��
��.�3�6�;,���%<��,��,�6�;����%<�
�,4���6�;�
��%<����
�
!
������	
5
���������NB%�>�����
�
����
�
�����

�� �� 
� �������������� ��
���NB����
�
!
���
,��� ��
���NB%

*���
����
���'���� �

��NB���5�� ��5����������
�
= 
�	
#� ��$����������
������
�������
�������	
��

��'������ 5�����	

������������$�#������	��g ����%
&���������
��������
�

!������
�� �������������� ���

���NB���
��
���A�6���������� ��
���?�
��.4�A�6�����

!����,��� ��
���� ���
���
�

� ��
�����
���������
%
*�!���

���

����$

���
�$������ � � ��������
��NB��
�
�
���� �� ��
!��� � ������( �����!� ��$
���

!�
!����
�(���!���	
5
�
�%�C����
���=
���
�$�������
�
��
!����
�(���!�
���
��������
����!� �������������� �
��
���NB��
����
�
��
���,�4�
��A�4�6����
�
!
������
�
�����
�#�$� ��#�
�����������,��� ��
���NB%�C��
�


��

��
�'��������
�
�$�������
�
����!����� ��
���4��

����.�6���
�����

(� ���	
5
�
����
�����
���$� �����
���������,��� ��
���NB%�R�
�����
�������'�����
�
!
�

!���

������
��
����$

���
���= 
�	
�����!����
�(���
�!��������
��NB�,��� ��
!������� ��
�����!��������
���
$
�
��%� +�����

� 
���� ��� ������� ���
�#� �
��#

�������� <
� 2���� ������������ 4�����5� �� ������� ��� ����������=� ������������ ����(��� ��'� ��������  )7*"

,
�
����-��$�G�#�@/!�!0���������)���'��������
��������
���3
� $�.�#�@/!�!0���������)���'�����
�������
���&����������
�=5�

���������	
�����

��������
������

�� �� ��
���
	�������	
���

���������� ����� ��!"� �#�!� ��"$%� �#��� ��""&%� �'��� ��#��

�()*������� ����� ����� �#��� ��#�%� ����! ��#�%� �!�!" ��"��

�	�����
��
+���� �$�"� ���"� "���� ���#&%� ����! ����&%� �$�$� ��$��

,)�������� #!�'� ����� �$�#� ����&%� ����� ��'#&%� #$��� ��!!�

�)�������� #'�"� ��!'� ���"' ���!&%� ���!$ ��$$&%� "��"" ��'"�

�

,
�
����-��$�G�#�@/!�!0���������)���'��������
��������
���3
� $�.�#�@/!�!0���������)���'�����
����&��
��	����'����
����≤0�
�����

���������	
����
	������
�����	����
������

≤��	����� �����	����� ����	�����
���
	�������	
���

�����������  !���"��!!�  #�$#"��#�%&�   ��!"��'#%&�  (���"��#��

�)*+�������  ��!�"���!&�  '�(("��'�%&�  ���#"��'$%&�  !�!�"�����

�	�����
��
,���� � �#�" �$�&� �!��$"��$'&� �����"��$#%&� '$�$ "��$'�

-*�������� #���$"���!&� '���!"����&� ''�#("����%&� #$���"��!!�

�*�������� '$���"��!�&� '���#"�� �%&� ' ��$"���$%&� �����"��(��

�

�������� 9
� 2���� ������������ 4�����5� �� ������� ��� ����������=� ������������ ����(��� ��'� ����������
��������  )7*"



����������	
����
�����������
���������������	�������	

.�

��
�����#���
������
�(�

!���X%�p|ZZz�bj�̂ o%�;,AA4<�7,,8�
��!��������
����
���'�� ���������������������
�
��
N&�;,-3S,2,������%���%<��
��!�-A����
�������
	
!�
�����
�������$

���
���= 
�	
����
����������
����

(� ���
�
���
����
�������N&�;,4�SA�������%���%<�������� �
��
�����

���
����	
5
�
��� ��
���
�

�;.��,U,�4<���� %

"�����
�(�


��ZaZotot�x_`^�xz`az�pjt[\����!��� 
��!��� �������-�.���
�� ��
	
��
���.����.2����
��������

����
�����5����0!�����
(��
�
���N&� ������
��� 
�
	
�����$

���
������� ��������!$���
��� �
��������
���!���
��%�*�������������
�
����������������

�(���
�!���!��������#����
������������$

���
�$���
�(�
�

!� �������� ��
	
%�C
���'�

!�������
�
�$������ �
�
��(

�,2������%���%���
��� 5����������
�
�����$

����

������ ��
��
��-�6���!(����?�
��A�6%�*�!���
���'�
������ ��$

���
���������
��� �� ��'��� � �������� !�


�� ��� � ����� ��(��� �
� ��

!�� �� ������ ��� �����
��	
5
�
������
���
���(���������
���7.8%

���������,%�"��������
�������
���
 �$
�����
�
�
#�=����������'����( ��� ����!��� ������� � ��$

�
���
���������
���5�������
����������#��

!���� �

�
NB�������
�#��
��#���������	
5
��%

�%�M�$

���

��������� ��������
�������
���
 �$
����
��
�
#�� ������( 5���!���� ��

!��!����
����(���!�
�����������$������
�
�$�������
�
��%

�%�*��� ��

!��
����
�
�����

��
����������������
���������5���
 ����=�����
 ����=
������ ���������


��$

���
�$������ � � 
�!����
�(���!���!���������� �
��

!�� ���
����
��$
�����
���
��������
�%

Q%SQJ�	 NGFPL0F'LS
��	������*��	N�	S�	8���
]	�����,����"���$�����	
������7

����	~	,�����$�����	�
����
����	3	N�	S�	������*��)	Q�	0�	C���7
&����)	H�	0�	8�������	1	Q%-�	~	Q����"��,�$���)	���4�	1	� �	��

��	����X����	D�	��	%���"����	��"������	*����	,��	�������7
"�����	 �	 �������"����	 ��,�������	 3	 D�	 ��	 ����X����)
��	0�	8���
���)	F�	Q�	I
"�������	1	8�	~	8�
�.���)	��44�	1	���	��
��	 �"���$��	 ����*��
�.�(	 �	 �������"���(	 ��,�������(	 ����7

,��������	����������	��,�������(	/g>f5	��	����,��������	��7
��������	���
��"����	/g>n5	� ������
�	1	��)	� ���	1	������
��	 ����"��������8�	L������"���	���-"������	�����	�
����R�

����

	 '���(��	 ~	 ���"�����7��������$���	 ,���-���	 3
���8�	����"����)	���8�	�����.������1	��)	� ���	1	��2���
2�	8�X����	F�	Q�	L�"�	�������"����	��,��������	�	�����7

���	���

�����	
�*��.��	3	F�	Q�	8�X����)	P�	��	C*�������	33
%�����$��	�����"�����	1	�  ��	1	F�	�)	�	��	1	Q�	��1� �
��	J����
*���	J�	C�	I�"�����	*���	���	�����7*�Z���	����7

���"����	��,��������	33	�
����R�	'���(��	3	J�	C�	J����
*���)
P�	0�	Q*�"��$
�)	J�	0�	%�"����,����	1	� ���	1	�	��	1	Q�	��1���
4�	 Q����������8�	 I�,������$��	 �����-�	 �	 �������"���	 ��,��7

�����(	~	*������&��	3	Q����������8�	1	C���.��	~	��
���.�	���7
"��������J����)	� ���	1	� ����
��	 H���"����N��D�	 ��*-�����������	 ������,�����������

����,��~	&��
�	��	&����������
#	 ��*-���.�#	���"�,��"�
�	������
�,���	3	N��D�	H���"���	33	'���(������	���
��"���$7
���	+
���"�	1	� ���	1	����	1	Q���414��
��	d:<rt=u{	k�	d�	ku{uk={tA<>tAt=~	̂ 	pBA?tu?A<	y=t@:w	s:B	;BAwu{;

t@=	?:;{utuz=	rtAt=	:s	pAtu={tr	 s:B	 t@=	?<u{u?uA{	 3	k�	d�	d:<rt=u{)
>�	g�	d:<rt=u{)	h�	i�	k?fq;@	33	�:qB{A<	:s	hrx?@uAtBu?	i=r=AB?@�	1
��42�	1	�	��/�5�	1	L�	���1����
� �	 e@=	k:{tB=A<	 n:;{utuz=	 ^rr=rry={t)	 kcn^~	 ^	 jBu=s

>?B=={u{;	e::<	 d:B	ku<w	n:;{utuz=	 bypAuBy={t	 3	>�	_ArB=wwu{=
�uAw)	 ^�	 h@u<<upr	 _AtA<u=)	 oA<=Bu=	 j=wuBuA{	 �=t	 A<���	 1	 �  2�	 1
o:<�	 2�/�5�	 1	h�	 ��21����
���	�2	x=AB	<:{;utqwu{A<	rtqwx	:s	}<::w	pB=rrqB=	A{w	w=y={tuA	3

b�	 >|::;)	j�	 `=B{s=<t)	 >�	 `A{wA@<	 �=t	 A<��	 33	 `A{?=t�	 1	 �����	 1
o:<�	��4/�  �5�	1	h�	��� ��
���	0�	��7bt=y	>@:Bt7d:By	f=A<t@	>qBz=x~	n:{rtBq?tu:{	:s	r?A<=r

A{w	 pB=<uyu{ABx	 t=rtr	 :s	 B=<uA}u<utx	 A{w	 zA<uwutx	 3	 ��	 g�	�AB=)
k�	�:ru{r|u)	>�	m�	�=<<=B	33	k=wu?A<	nAB=�	1	�����	1	o:<�	��/�5�	1	h�
�� 1����

J���*���	��� ����


